* FiaEREITERE
* HiF{TERE

* PEERF

T B IRl A1



A [
Applicationindustry

EDRIHFNFIEN

NBALZAR, BaHERTNNBFRR

Ko G —
I
- 3
el BE
ARREIS = % LR
3 % Ve
i 3 R :

B UHHZHD

PRAEENEEHBETERENNTEL, £,
HEPRHUEEARN T mRES. AREEEETM
HERMSEFMATEMN, KRR REES, ATHE
HEOMERMTRNEFERAFTR, 27,
& HiE R T AR TRRITERE I & KR E#E
M7 E K.

nE—EHUER, tlE, fEENEIERE

B, RIMBERERRACVEFNRE, B—E
1%%%5@%%;:;:&!3‘]133&, ABEFRHERREROS
FRE =, — P rEmiEds, HNENERER#HE
B-fEAttrER, Fik, RNERREEERL

BRI RKIEPETFRIMNWEERREFE, ATEW

&, RMNEREXNENEEBR®ERENTm, &
REWEFEQRGHECH, HABRUBLERBER
VZE 38

NEB—ERAXEEZRBFEETE.




Hx %5l

AB/ABRZ 5l AD/ADRZ 5l AF/AER 3]
=R ERE =R E RS =R E RS

Page. 1-16 Page. 17-29 Page. 30-44

PTE/PTF/WPTE/WPTFZ 3 PTSEZ I PTK/WPTKZ 5
BHiEREN = RME S LmHE®E

:0

RY_

A s,

£ o

Lo
\'\t

;j

Page. 52-54

L gy
).

Page. 55-63

Page. 45-51

MTZ 31 LSS/LHTE3I XAR/PTRE 3
hEREESR T4 I8 Rt % AL R E L

mE. RAXK

29
i

Page. 64-77

Page. 78-94 Page. 95-98




@ ABR7I

@ s Output shaft

@ i Oil seal

@ MHHEIHHA Output shaft front bearing
@ 17E% Planetary gear

® AR Solar wheel

® #EH& Full needle bearing

@ B Front cover

BHMEHA Output shaft rear bearing
©® ifE Oil seal

@ BXihEg Coupling

@ EIR Lock ring

® 5= rear cover

BYE45EH / MODEL ILLUMINATE

CORGERAE R
xS
| AB142/AB180/AB220

In
[
o
g
dn

| ABO60/ABOSO/AB115 ‘o

_________________________________________________________________________

WisRLL : BR(L1):3,4,5.6,7,8,10 | TR0 AEEER
p . L] - PRI RNR :
T43(12):12,15, 20, 25 30,35,40,50,60,70,80,100 | | o3 fospras |

1%F3GHI: AB090-10-SI-/ MHMD-082G1U




@ ABZ7I

TENEREEEl / GEAR BOX PERFORMANCE INFORMATION

3 1,140
4 140 290 542 1, 050 1,700
5 22 60 160 330 650 1,200 2,000
1 6 20 55 150 310 600 1,100 1,900
7 19 35 140 300 550 1,100 1,800
8 17 35 120 260 500 1,000 1,600
10 14 23 48 140 370 520 1,220
12 20 55 130 208 342 588 1,140
15 20 55 130 208 342 588 1,140
BN F15E T,y Nm 20 19 50 140 290 542 1,050 1,700
25 22 60 160 330 650 1,200 2,000
30 22 60 160 330 650 1,200 2,000
) 35 22 60 160 330 650 1,200 2,000
40 22 60 160 330 650 1,200 2,000
50 22 60 160 330 650 1,200 2,000
60 20 55 150 310 600 1,100 1,900
70 19 35 140 300 550 1,100 1,800
80 17 35 120 260 500 1,000 1,600
100 14 23 48 140 370 520 1,220
BAMIL ST, Nm 1,2 3~100 SEEE L ke
BN N rpm 1,2 3~100 5,000 5000 4,000 4,000 3,000 3,000 2,000
BAMAEER N, rpm 1,2 3~100 10,000 10,000 8000 8,000 6,000 6,000 4,000
~ = = < < < < <
BEEER SO arcmin ; 1;}30 B B &l ;; ;; ;; ;;
vt st . 1 3~10 <3 <3 <3 <3 <3 <3 <3
HERR S1 Gl 2 12~100 <5 <5 <5 <5 <5 <5 <5
s . 1 3~10 <5 <5 <5 <5 <5 <5 <5
HRTR 52 aremin 2 12~100 <7 <7 <7 <7 <7 <7 <7
R Nm/arcmin 1,2 3~100 3 7 14 25 50 145 225
BFREA e N 1,2 3~100 780 1,530 3250 6,700 9400 14,500 50,000
B Fopne’ N 1,2 3~100 350 630 1,300 3,000 4,000 6,200 35,000
BN Fype’ N 1,2 3~100 390 765 1,625 3,350 4,700 7,250 25,000
FERER hr 1,2 3~100 20,000
e . 1 3~10 297%
RN e 2 12~100 >94%
- kg 1 3~10 0.5 1.3 3.7 7.8 14.5 29 48
= 2 12~100 0.8 1.9 4.1 9 17.5 33 60
EREE G 1,2 3~100 -10°C~+90°C
o) 1,2 3~100 & B8 HAs
BEIF LR 1,2 3~100 IP65
S 1,2 3~100 IEHE
1% 1{& (n,=3000rpm) dB 1,2 3~100 <56 <58 <60 <63 <65 <67 <70

IR AL 5% B 15 2

3 0.03  0.16 3.25 28.98  69.61
4 0.03 0.14 0.48 2.74 7.54 23.67 54.37
5 003 013 047 271 742 2329 53.27
1 6 003 0413 045 265 725 2275 51.72
7 003 013 045 262 7.4 2248 50.97
8 003 013 044 258  7.07 2259 50.84
10 003 0413 044 257  7.03 2251 50.56
12 0.03 003 013 047 271  7.42  23.29
15 0.03 0.03 0.13 0.47 2.71 7.42 23.29
HHRE J, kg - om’ 20 003 003 013 047 271 742  23.29
25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
30 003 003 043 047 271 742  23.29
35 003 003 013 047 271 742 2329
2 40 003 003 013 047 271 742  23.29
50 003 003 013 044 257  7.03 2251
60 0.03 0.03 0.13 0.44 2.57 7.03 22.51
70 003 003 013 044 257  7.03 2251
80 0.03 0.03 0.13 0.44 2.57 7.03 22.51
100 003 003 013 044 257  7.03 2251

1. B E( i=N,/ o) 2. 100 rpm Y, {EM TS OAE.

ESERRIRERESG Sz —.




@ ABR7I

JMizRTEZR / OUTLINE DIMENSION SHEET

i/ INPUT HHim/OUTPUT
915
26 65.5
42 195 4
I | —
% i = &
O ~
E S | T E Py
# g =1 — 1 T
A [
— 13 |-
4-M4x10 5.5 30
BN/ INPUT wHis/OUTPUT
119
2% 93

19.5 4

S
w
=
I
N
45

@35h7
1
e
] }\

i

|

|

1

T

T
O8F7]
@30G7

5.5

w
S

M4x0.7P

WA
HADRERE L R, TRIBEPER EMEY.

*The input motor specific dimensions could be customised.




@ ABR7I

MiZRTEZR / OUTLINE DIMENSION SHEET

FNRINPUT %/ OUTPUT
c9
37 c8
285 6
1 I
e b 25 D O}r
° -Iﬁ. }
S -‘g; =+ — = —+ _H__ § “E
15 i
r L] cs
| T 1§
15 - L I—
! = 4-95.5 280
AR/ INPUT i /OUTPUT
C9
3 c8
285 6
| I
& b 25 D O}r
o -Iﬁ- }
5 .‘§ g B — 4 — = 3:__5 uoq
15 |
f | C6
| T T
15 — [ I_
! c4

Bng AB-060-L1 @70 4-M4x10,4-M5x12 @11,014 34 @50 5 112
290 4-M5x12,4-Méx12 @19 44 @70 5 80 85 122

M5x0.8P AB-060-L2 @70 4-M4x10,4-M5x12 @11014 34 @50 5 60 105 142
* Cl~CTRAHIREDIRIEERC RS, I RIES P EREmEH.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

A




@ ABZRJI

SMiZRTEZ / OUTLINE DIMENSION SHEET

BN/ INPUT oo 4%/ OUTPUT
48 c8
36.5 8
N
D
SR I S
19 c6
15 ™N
19
ol 10
c4
BN/ INPUT
c9
48 c8
36.5 8
] AN —
B 32 %
N Q
5 g =2+ ——|+ 1+t 1883
19 c6
15 )
I,// O0—]
o c10
c4

6o @90 4-M5x12 , 4-M6x12 @70 90 95.5 1435

- M8x1.25P @100 4-M6x12 216 44 @80 7 90 9551435 7
2 AB-090-L1 @115 4-M8x20 219022 50 @95 7 100 101.51495 13
“ @115 4-M8x25 @19,@22 60 @95 8 100 111.51595 23
@145 4-M8x25 019,022,024 60 ©110 8 130 111.51595 23

@70 4-M4x10,4-M5x12 @11,014 34 @50 5 60 115 163 5.5
AT AB-090-L2 @90 4-M5x12, 4-M6x12 219 44 @70 5 80 125 173 16.5
2100 4-M6x12 216 385 @80 5 86 11951675 10

* Cl~CTRAHIREDIREERZ R, IR P 2R EIRER.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,




@ ABR7I

JMiZRTER / OUTLINE DIMENSION SHEET

B NImR/INPUT s/ OUTPUT
c9
65 C8
c7
51 h0 115
|
& b 40 D &
5 R e A AR -
& 28 |2 c6 &b
12
1C10]
c4
BN/ INPUT i /OUTPUT
c9
65 Cc8
51 10 115
T |
_b_ 40 '— &
~ O N~
S H I LS 8
c6 .
28 |2 I__ Sy
L] C10
12
c4

AB-115-11 @145 4-M8x25 219,022,024 65 @110 11 130 121.5186.5 20

10n9 @200  4-M12x28 @35  805@1143 6 180 137 202 36.5
M12x1.75P @90 4-M5x12 , 4-M6x12 @19 44 @70 7 90 148 213 8
al 100 4-M6x12 16 44 @80 7 90 148 213 7
AB-115-12 @115 4-M8x20 219,022 50 ©@95 7 100 154 219 13
2115 4-M8x25 ©19,022 60 @95 8 100 164 229 23
145 4-M8x25 019,022,024 60 @110 8 130 164 229 23

AR * C1~CTRAIMEDSIAER R R, I RIES P E K I TE M.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,




@ ABRJI

SMiZRTE / OUTLINE DIMENSION SHEET

HiHim/OUTPUT

BNi®R/ INPUT o

97 c8

79 h2
D

5 65 e &
5 : H—— A g
Cc6
36 3 &
D
1
15 c10
c4
N/ INPUT C9 iR /OUTPUT
97 c8
c7 79 12 142
&=
5 65 &
5 2 e q 2
C6 = 8
36 3 & S
2 ="

‘O
hie
o
S
Q
=
=
K\
=
®
>

15

c4

(@iE/OUpU Diameter Ry o1 2 3 o4 O5 Os C7 8 CO CfO
7 142 142 239 145

12h9 @145  4-M8x25 022,024 67.5 @110
AB-142-11
M16x2P 0200 4-M12x23 @35 83 @1143 8 180 15752545 30
©110 11 130 190 287 20

@145 4-M8x25 (319,022,024 65

AB-142-12
0200 4-M12x28 @35 80.5 ©1143 6 180 205.5 302.5 36.5

43
|

* C1~CTRAFIREDINEER Z R ATRIEE P E R BIREM.

* Cl~C7are motor(metric standard) specific dimensions, which could be customised,

AKX

]



@ ABR7!

JMizRTE R / OUTLINE DIMENSION SHEET

HN/INPUT 287 i/ OUTPUT
105 182
180 82 15
®/ i \® T
/ \ / \ Z b 70 V o
O A
[ 53
S| 3| fr+—bh—ft+—— ——It g <
~ E JE—-— S g
g 7
/ Wk 2|3 5
Q ® D
M \ - i
T
20
4-M12x30 85
NI/ INPUT Hittim /OUTPUT
337
105 232
82 15
R
6_ 70 &
. JEL Ot 8
[ e R N e
E = (] g
2|3 § %
)
_ 2ol %]
83

ENDIAERIRC R T, A RIEE P E R ERHE.

*The input motor specific dimensions could be customised.

AKX




@ ABRZ7I

BY=1i%HB / MODEL ILLUMINATE

B UEES i i i s 5

| ABRO42/ABROGO/ABROSO/ABR1 15 L : ! éﬁ%ﬂgﬂ%— ]

| ABR142/ABR180/ABR220 L L
THAZELY, : BR4%(L1):3,4,5,6,7,8,10, 14,20 BhR . S1: KBS

SR (L2): 15, 20, 25, 30, 40, 50, 60, 70, b S2: RS
; 80, 100, 120, 140, 160, 200 Co ;

i%HAEfl: ABR0O90-10-SI-/ MHMD-082G1U




@ ABRZR%I

ENEEESE / GEAR BOX PERFORMANCE INFORMATION

S M RN RUEHT AR ABROO ABROSO ABRITS ABRI4Z ABRIED
5 55

3 130 208 342 588
4 10 50 140 290 542 1,050
5 9 60 160 330 650 1,200
6 i 55 150 310 600 1,100
1 7 - 35 140 300 550 1,100
8 5 35 120 260 500 1,000
10 - 7% 48 140 370 520
14 - 35 140 300 550 1,100
20 - 23 48 140 370 520
15 16(12.0) 55 130 208 342 588
20 12 50 140 290 542 1,050
- 25 10.5 60 160 330 650 1,200
FURHH 8 Ty Nm 30 - 60 160 330 650 1,200
35  32(12) 60 160 330 650 1,200
40 10.5 60 160 330 650 1,200
50 . 60 160 330 650 1,200
2 60 - 60 160 330 650 1,200
70 - 60 160 330 650 1,200
80 - 60 160 330 650 1,200
100 - 60 160 330 650 1,200
120 = = 150 310 600 1,100
140 = = 140 300 550 1,100
160 = = 120 260 500 1,000
200 = = 48 140 370 520
A DT, Nm 1,2 3~200 BfEFEME 5B
WM N, rpm 1,2  3~200 5,000 5,000 4,000 4,000 3,000 3,000
BAMINGERN, rpm 1,2 3~200 10,000 10,000 8,000 8,000 6,000 6,000
. 1 3~20 <4 <4 <4 <4 <4 <4
REHR S1 aremin 2 15-200 <7 <7 <7 <7 <7 <7
s ) 1 3~20 <6 <6 <6 <6 <6 <6
HOER R S2 aremin 2 15~200 <9 <9 <9 <9 <9 <9
HEERI T Nm/arcmin 1,2 3~200 3 7 14 25 50 145
BEREN F N 1,2 3~200 780 1,530 3,250 6,700 9,400 14,500
BB Fy N 1,2 3~200 350 630 1,300 3,000 4,000 6,200
BVFRE T F,y N 1,2 3~200 390 765 1,625 3,350 4,700 7,250
ERER hr 1,2 3~200 20,000*
. 1 3~20 295%
HE N % 2 15~200 292%
55 ‘ 1 3~20 0.9 2.1 6.4 13 24.5 51
= g 2 15~200 1.2 2.5 7.8 142 275 54
ERIRE °c 1,2 3~200 -10°C~+90°C
JEE 1,2 3~200 & AiER s
BRF R 1,2 3~200 IP65
LT [6) 1,2 3~200 EEHMH
28 (n,=3000rpm) dB 12 3~200 <61 <63 <65 <68 <70 <72

IR IR E

3~10 0.09 0.35 2.25 6.84 23.4 68.9

1 14 - 0.07 1.87 6.25 21.8 65.6
HEiRE J, kg « cm? 20 - 0.07 1.87 6.25 21.8 65.6
2 15~100 0.09 0.09 0.35 2.25 6.84 23.4
120~200 = = 0.31 1.87 6.25 21.8
1 BUREE( i=N,,/ N,,,) 2. HiiE% 100 rpm B, {EAFHdAORE.

* EHERERIEREG S22 —.




@ ABRZR7|

JMizRTEZ / OUTLINE DIMENSION SHEET

BINIR/INPUT 97.2 i OUTPUT
25 855
19 5 042
1 I =
. 2 16 U & -
5 ] > 5
. 5 Q?vj =
& _frr--1 - L 3
8| TP ] @D 5
. & )
& 10 | O . \< /Q DO &
1 - B | ©
4-M4x10 5.5 i |
L Lo ]
= |
| 287 |
23067
BN/ INPUT 1092 ki /OUTPUT
25 13
19 4 042
1 I =
2 16 I & =
7] - IR &
@ Y
S| P 7
)
10 . | O X BN DO %
[ ™ © \<
1 1 1D |
4-M4x10 5 i |
— | O__ @ — i -
T

M4x0.7P

~

NDIAERRC R T, A RIEE P EKERIREM,

HhEIT *The input motor specific dimensions could be customised.




@ ABRZR7!

SMZRTER / OUTLINE DIMENSION SHEET

@

AR/ INPUT c9 HHEs/OUTPUT
37 C8
285 6 060
] D o
h 25 @ 5
) 2 //O;DQ
g =4 — 4+— — <1
oL B q@“% OU
S == | P - Gy 6
15 — 1V
1 I
|
[RRECN [ 1
T

B Nim/ INPUT o i HHiR/OUTPUT
37 c8
2.5 6 060
] D e
g 25 > 5,
) 2 (/;DQ
s = 4$4+ — —+ — L ~|
8 = i ﬁu y
&
- [ ™ | O 5 K/QQ Z Y,
15 — 1D
T i |
. |
ol [
=== !

5h9

o

=

2166

A

@70 4-M4x10,4-M5x12 ©@11,014 34 @50 5 60 107 144 100.5
@90 4-M5x12, 4-M6x12 @19 44 @70 5 80 117 154 110.5
ABR-060-L2 @70 4-M4x10,4-M5x12 @11,014 34 @50 5 60 134 171 100.5

* Cl~CTRABIRESINERIRZ R T I RES PR EIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

ABR-060-L1
M5x0.8P




@ ABRZH7I

SMZRTER / OUTLINE DIMENSION SHEET

B NEH/INPUT ; co = s/ OUTPUT
4
365 8 090
- D
B 32 L
3
E e 0 ~
8 7
19 ‘ -
15 5}
1 B ‘ °
10 ‘
O o3
|
| C3r7| 8
C5er7
NI/ INPUT o s /OUTPUT
48 C8
36.5 8

@80h7

il
—‘chJ 8

|

\

\

\

|

I

i

\

|

407

@)
ct

——

O
C10
c4

C6

 #Hi§HE/Output Diameter B 7 M = = 2 73 [ ) 2 AT

@90 4-M5x12,4-M6x12 @70 6 90 155203 9 142
6ho

g @100 4-M6x12 @16 44 @80 5 90 155203 8 142
© VS ABR-090-L1 @115 4-M8x20 219822 50 @95 8 100 160 208 14 148
“‘ @115 4-M8x25 @19,622 57 @95 8 100 160 208 21 155
9226 @145 4-M8x25 @19,022,024 60 @110 11 130 175 223 24 158
@70 4-M4x10,4-M5x12 @11,014 34 @50 5 60 144 192 551155

WA ABR-090-L2 @90 4-M5x12 , 4-M6x12 @19 44 @70 5 80 154 202 16.5125.5
@100 4-M6x12 @16 385 @80 5 86 157 205 10 120

* Cl~CTRABINESIRIER R R AIRIES P 2R IRE.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,




@ ABRZHRJI

JMizRTE 3R / OUTLINE DIMENSION SHEET

iR/ INPUT
0cr

N/ INPUT

o

M12x1.75P

B

2110n7

@110n7

c9 iHiE/OUTPUT
65 c8
51 0 o115
1 1Y
_b_ 40 % 5
I
,LW‘:;h 4 - 1r
28 |2 I ‘ s &
—I:ﬂB ‘
12 ‘ |
1O s |
g ‘
| 5= |
G377 |
G567
His/OUTPUT
c9
65 c8
51 10
| T
_b_4 D
11—
28 |2 I ‘ S
I O S| Zr)
|
1
C3F7.

l

Cha1

@145 4-M8x25 019,022,024 66 D110 14 130201.5266.519.5 184

ABR-115-L1
@200  4-M12x28 @35 81 @114.3 21 180226.5291.535.5 199
@90 4-M5x12, 4-M6x12 @19 44 @70 6 90 204 269 9 1545
@100 4-M6x12 @16 44 @80 5 90 204 269 8 1545
ABR-115-12 @115 4-M8x20 219022 50 @95 8 100 209 274 14 160.5
@115 4-M8x25 ©19022 57 @95 8 100 209 274 21 167.5

@145 4-M8x25 019,022,024 60 @110 11 130 224 289 24 170.5
* Cl~CT2 A FIREDIKIERRZ R, AR E P BRI EM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,




@ ABRZR7!

SMiZRTER / OUTLINE DIMENSION SHEET

BANI/INPUT €9 iR/ OUTPUT
97 c8
79 2
B D
_b_65 ‘_ 5
- 5
E o ¥
2 t,ﬁ’f*
36 |3 I ‘ s &
I 49 |
15
| |
1O e |
| &= |
|C3F7|
G567
R/ INPUT s /OUTPUT
c9
97 c8
79 12
= 6_ 65 i >
N 5
8 =3 — %\ N
(S
& 3|3 I o
i — |
T O 13} 3
|
C3Fz

|

120 ABR-142-L1 @145  4-M8x25 022,024 83 ©110 11 142 236 333 19.5 228
... M16x2P @200 4-M12x30 @35 85 @114.3 15180 255 352 21.5 230
ﬁ @145 4-M8x25 919,022,024 66 @110 14 130256.5353.519.5197.5

@200 4-M12x28 @35 81 @114.3 21 180281.5378.535.5212.5
IhA * C1~C7are motor(metric standard) specific dimensions, which could be customised,

ABR-142-12

* Cl~CTRRHIREDRIER R R AT RIES P 2R IREM.




JMiZRTEZ / OUTLINE DIMENSION SHEET
.

N/ INPUT 394 HHiR/OUTPUT
105 289
180 82 115,
=
/: . b1 D =
I - Y
Il = 3
i 3 *J:’*L,ifiifii
Il 5 [
//—: & 2|3 I ‘ S &
EE =4 °
It 20 ‘
! w0
1O “
.
I
p35ET ~
2114.367
HINIH/ INPUT HytHius/OUTPUT
427
105 322
82 15
5 b7 )
. g
g | — 11— N
Q
& 2|3 I ‘ S
4-M12x30 = | ©l
T O & 2
| ]
\ |
I

P35F7
0114.367

M20x2.5P

EANSIAERIRC R AR IES PR PIREM.

L iCE *The input motor specific dimensions could be customised.




BISi5iEH / MODEL ILLUMINATE

L RURALER i B S1: I o
| ADOS4/ADOS0/AD110 b S2: HREERSHE Lo
' ADI140 f Co
| L BR(1):4,5,7,8,10 Dikme i
| DikHERAS |

SR4R(L2): 20, 25, 35, 40, 50, 70, 100 i

iFefl: AD090-10-S[1/MHMD-082G1U




@ ADZ7

TEHEEEEFl / GEAR BOX PERFORMANCE INFORMATION

48 130 270 560 --
60

4
5 160 330 650
1 7 35 140 300 550
8 85 120 260 500
10 23 48 140 370
20 48 130 270 560
AR A8 Ty Nm 25 60 160 330 650
35 60 160 330 650
2 40 60 160 330 650
50 60 160 330 650
70 35 140 300 550
100 23 48 140 370
BARENET, Nm 1,2 4~100 BEFEN W N8
ENE NG IR ni pm 1,2 4~100 5,000 4,000 4,000 3,000
EARMINGEIE N, rpom 1,2 4~100 10,000 8,000 8,000 6,000
T . 1 4~10 <3 <3 <3 <3
BEER S1 arcmin > G — — — —
o _ 1 4~10 <5 <5 <5 <5
HERR S2 arcmin 2 20~100 <7 <7 <7 <7
HEERIE Nm/arcmin 1,2 4~100 13 31 82 51
BRATHHEM, Nm 1,2 4~100 125 235 430 1,300
AiFHE N F,y N 1,2 4~100 2,110 2,310 4,800 6,200
{ERFw hr 1,2 4~100 30,000
= o 1 4~10 >97%
e N i 2 20~100 >94%
£ kg 1 4~10 1.2 3.0 5.6 11.9
2 20~100 1.6 3.7 7.3 15.9
ERIRE °C 1,2 4~100 -10°C~+90°C
bli2hi = 1,2 4~100 EREE RS
BEIFZER 1,2 4~100 IP65
RETE 1,2 4~100 FEAME
12 & {& (n,=3000rpm) dB 1,2 4~100 <58 <60 <63 <65
WIS IRE

4 014 051  2.87  7.54
5 013 047 271  7.42
1 7 013 045 262 7.4
8 013 045 262 7.4
10 013 044 257  7.03
e , 20 0.03 013 047  2.71
S L kg - cm 25 0.03 0413 047  2.71
35 0.03 013 047  2.71
2 40 0.03 013 044 257
50 0.03 013 044 257
70 0.03 013 044 257
100 0.03 013 044 257
1. BSELE( =N,/ N,..) 2. {550 100 rpmBd, (ERITHME (0B .

*EEEERRRERES =42 —.




SMZRTE / OUTLINE DIMENSION SHEET

9
NI/ INPUT 195 4 235 HHim/OUTPUT
AN
=
7 il
oo o o L8 O 1.
8| 5| = 8| S| 1 B3 s
Sl € ;S 3 B (SIS
r’
/ | % i] cs
| i=) cs
c2 EEERT R J c4
1SO 9409 sHIR66x2
9
BIAim/ INPUT 195 4 525 HiE/OUTPUT
AN 2
=
7% ]
e o o L8 O — .
<l 59 & & R
HHEEE Ulo g
r’
/ I il cé
I
€2 N c4
1SO 9409 SHIR66x2
AD-064-L1 825
@70 4-M4x10,4-M5x12 @11,014 35 @50 5 60 7.5
AD-064-L2 108

* C1~CTR AT EDIRERIRZ R, AIiRIEE PEK A EN.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised -




@ ADZR%

SMiZRTEZ / OUTLINE DIMENSION SHEET

o C9
ENIR/INPUT 0 7. 2
C7 6 10| |8
= B_
7 n @)
o = of = B HZ o sl =
EEEEP CEL
l < n Cc6
’ = c8
2 &%EERT}WFR—/ c4
1SO 9409 SRER90x3
Cc9
iR/ INPUT 0 7 5 s /OUTPUT

3
©)
@
©)
&N
I
1

Q)
/ © O O © \ ;
| \ i @)
~ me o 2ol 2l 5 A 5l 3 2
ity EERRLEE Nl 88 4
%
\\ B © = o' l i p £
/ £ = —
=% malll
~-5 - ’ = c8
c2 ;‘iéﬁRTJ‘W,&E—/ 4
1SO 9409 SHIF90x3

@90 4-M5x12, 4-M6x12 @19 47 @70 7 80 85 1045
@145 4-M8x25 019,022,024 60 @110 11 130 20.5 117.5

211,014 345 @50 5 60 7 1225

AD-090-L1

AD-090-L2 @70 4-M4x10, 4-M5x12

* Cl~CTRARIMNEDINER R R eI P E R E M,
* C1~C7 are motor (metric standard)specific dimensions, which could be customised,




@ ADZR%I

MiZRTEZ / OUTLINE DIMENSION SHEET

BN/ INPUT % & 23 i HR/OUTPUT
6. 10| f10
= -
v 0 O
o 5| 9 2| 5| A sl 2
HEEL EBE w R ek
[. . n cs
l =1 c8
ﬁéﬁﬁ#ﬁ&ﬂ.ﬁ—/ c4
1SO 9409 fﬁﬂ:110x3
c9
BN/ INPUT 2 8 73 Hiis/OUTPUT
6 10] |10
= ——
v I
of 2l g = 2| HA P Jo — | =
EEEEE R m i =
A n c6
iz MdE
I =1 c8
z;mwna—/ c4
1SO 9409 SHIF110x3

AD-110-L1 @145 4-M8x25 019,022,024 64 @110 11 130 19 135
290 4-M5x12 , 4-M6x12 @19 47 @70 7 80 85 1495
AD-110-L2
@145 4-M8x25 019,022,024 60 @110 11 130 20.5 162.5

* Cl~CTRAHINEDIRER R R AT RiES P 2RI,

* C1~C7 are motor (metric standard)specific dimensions, which could be customised,




@ ADZR7|

JMiZRTEZ / OUTLINE DIMENSION SHEET

HBAIR/INPUT e it/ OUTPUT
38 10 62
6 148 |12
=
= h ] 11-M8x17
z O
ol El 9 2| 5| H2 Il =
=128 8 g FA ——--g--—--talg$
® 5| B B ® A [SIRSIRS
I. < ] [
| L L E
= c8
;ﬁéﬁﬁvmﬁa—/ J C4
1SO 9409 SHER145x3
N c9 N
NI/ INPUT — " i /OUTPUT
6 14.6) |12 o 287
=
;1 11-M8x17
D
o El o | 5| H2 Q — | =
2 S| ol S| & I B L R A = =
5 5 5 5| 8 a Bk 2
I'/ n [
’ = cs
ﬁéﬁﬁmﬂa—/ J C4
HhIF145x3

1SO 9409

@145  4-M8x25 022,024 75 @110 11 130 19 164
AD-140-L1
2200 4-M12x30 @35 83 ©1143 8 180 27 172

AD-140-L2 @145 4-M8x25  ©19.022,@024 64 ©110 11 130 19 205.5
* Cl~CTRATWRESINERIRZ R I RIEE AR R IREM.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised,




® ADRZEJI

BYSi5H88 / MODEL ILLUMINATE

ADR

SERIES

| OREALAIR o S e

E ADRO064/ADR090 5 i : S2 : TSR

' ADR110 L

LY, - BgR(L1):4,5,7,8,10,14, 20 1 =y i =i

W% (L2): 20, 25, 35, 40, 50, 70, 100, 140, 200 Co SAHIERES

i%FEfl: AD090-10-S2/MHMD-082G1U




@ ADRZX%I

RiEH 1448295l GEAR BOX PERFORMANCE INFORMATION

4 19
5 22 60 160 330 650 1,200
7 19 35 140 300 550 1,100
1 8 17 35 120 260 500 1,000
10 14 23 48 140 370 520
14 - 35 140 300 550 1,100
20 - 23 48 140 370 520
- 20 19 48 130 270 560 1,100
Bt D48 oy N 25 22 60 160 330 650 1,200
35 22 60 160 330 650 1,200
40 22 60 160 330 650 1,200
2 50 22 60 160 330 650 1,200
70 22 60 160 330 650 1,200
100 22 60 160 330 650 1,200
140 - - 140 300 550 1,100
200 - - 48 140 370 520
BAKHNET, Nm 1,2 4~200 IfEHEHL N
EER RS E N, rpm 1,2 4~200 5,000 5,000 4,000 4,000 3,000 3,000
BABINEEN,, rpm 1,2 4~200 10,000 10,000 8,000 8,000 6,000 6,000
. ) 1 4~20 <4 <4 <4 <4 <4 <4
oot X aremin 2 20~200 =7 <7 <7 <7 <7 <7
s . 1 4~20 <6 <6 <6 <6 <6 <6
AR S2 aremin 2 20~200 =9 <9 <9 <9 <9 <9
HEENE Nm/arcmin 1,2 4~200 7 13 31 82 151 440
BATHAEM, Nm 1,2 4~200 425 125 235 430 1,300 3,064
AVFEE A Fel N 1,2 4~200 1,080 2,110 2,310 4,800 6,200 5,450
ERER hr 1,2 4~200 30,000+
s o 1 4~20 =95%
2 20~200 =92%
_ 1 4~20 1.1 2.1 5.9 10.5 21.9 50.9
8 kg
2 20~200 1.4 1.9 4.5 9.8 20.1 45.4
R © 1,2 4~200 -10°C~+90°C
EiE 1,2 4~200 S REiEmAE
GERE T 1,2 4~200 P65
REET7H) 1,2 4~200 FEABE
1248 (n,=3000rpm) dB 1,2 4~200 <61 <63 <65 =68 <70 <72
BIRAEHNIRE

4~10 0.09 0.35 2.25 6.84 23.4 68.9
1 14 - 0.07 1.87 6.25 21.8 65.6

HHIRE J, kg - cm’ 20 - 0.07 1.87 6.25 21.8 65.6

20~100 0.09 0.09 0.35 2.25 6.84 23.4

140~200 - - 0.31 1.87 6.25 21.8

1. B bE( i=N,,/ N,,,) 2. a5 % 100 rpm &Y, {ERAFHHEhPOME.
* ESEEERERAFG -9 —.




@ ADRZX%I

JMiZRTEZ / OUTLINE DIMENSION SHEET

. 126 HHiR/OUTPUT
195 _4
3. 7]
. =
g 53 & 2 =
BRI RS 1l
g [ %D_ 8
] |
l -E-. —/ ’
AEERIKR - W66 2‘, | i
0]
Gl g
Cbe7
NI/ INPUT 25 s/ OUTPUT
195 _4
3. ]
. =
gl 2 3 5 & =
BRI F
| f %
Il | )
N— J |
1SO 9409 ShEIR66x2 a
(L@

C3F7
G567

815 116.5

ADR-064-L1 @70 4-M4x10,4-M5x12 @11,314 @50
@46 4-M4x10 a8 34 @30 5 60 815 116.5

ADR-064-12
@70 4-M4x10,4-M5x12 211,014 34 @50 5 60 815 116.5

C6

* CI~CTRABIFREDIAEEIR Z R, AIRIEE FER B EM.
* C1~C7 are motor (metric standard)specific dimensions, which could be customised




@ ADRZX%I

SMiZRTEZ / OUTLINE DIMENSION SHEET

HINm/INPUT 1725 aHis/ OUTPUT
30 7
6. 19
ac7
I lim
15 RO 2
Il of 2| of 2| & HE
© S © E =Y

I TS I [«"" "#'
g ; 11| Vo
I '

[ = m
/ c2 =4 7 : S
I
——— j
i N70x: | 8
(L0 ]
C3F7 ©
-t 8
C567
5 Nigs/ INPUT 163 s /OUTPUT
30 7
6 .10 o7

7-M6x13.5

2118

@90n7

289.2

063h7

231.5H7
AN

| 1;; NI
T

C9

[ ] | 8
/ H I -
SELTER KRR J J | | IO |
1SO 9409 SHER90x3 o] o
_—t O
[oisTerd

@90 4-M5x12, 4-M6x14 219 44 @70 7 80 1115 163.5

ADR-090-L1
@100 4-M6x14 @16 44 @80 7 86 1115 1635

ADR-090-L2 @70 4-M4x10,4-M5x12 @11,814 34 @50 5 60 85.5 132.25
* Cl~CTRRHIREDIRIER R R, AT RIES P ERBAIREM.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised,




@ ADRZX%I

JMiZRTEZ / OUTLINE DIMENSION SHEET

AR - i/ OUTPUT
9 8
6 1]
oc7
I =
1 RN -
: o 55 2| 2| HA
Il 5| 5| 5| 8| 2 J
RE=%2 | 4 & ~ i
: ' 1 |
I T ] Il .
s ]
o]
KOS
C567
N/ INPUT 2175 Hi%/OUTPUT
29 8
6 10|
ocr =
/ V.
et s \
J CEEFE R/ -
// ® S @ N sl ® 3 ] .
&l Y, )| 74 >
IL = 1 | | l s
I = 5
%EER#WE@—/ J || o) |
1SO 9409 SIF110x3 e -
G567

ADR-110-L1 @145 4-M8x25 ©19,022,024 60 @110 8 130 144 209
290 4-M5x12, 4-M6x14 @19 44 @70 7 80 11151705
ADR-110-L2
@100 4-M6x14 @16 44 @80 7 86 111.5170.5

* C1~CTRAFIREDIAERNZ R~T, WRIER A ERAMEM.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised -




@ ADRZX%I

SMiZRTEZ / OUTLINE DIMENSION SHEET

HitHig/ OUTPUT

B NImR/INPUT 235

S
=
£y

:

11-M8x17

o
NI

~

}

2179
©9140n7
2100n7

95017

2139.2

C9

iz ;p—

l
1 )
l

C8

- D

EZER TR —/ J
1SO 9409 SHER145x3

C3r7.
Cse7

C6

BARINT . ki /OUTPUT
B 10
: - W OBHT
ocr =4
i Z 1-MBx17
& 7
/;/ eme ol Bl g 2l =| 1Y ~
® S ® & S| 5| 8| 5| 8 A § .
) [e\EXe] h i
| % [ 8
| = | .
%ZEERTHT@.,E,—I J | | e |
1SO 9409 ShER145x3 ’gﬂ 8

Cse7

@145  4-M8x25 @22,0324 60 @110 130 164.5 2455
@165  4-M10x25 @28 60 @130 6 142 164.5 2455
219,022,024 60 @110 8 130 144 219

ADR-140-L1

ADR-140-L2 @145  4-M8x25
* CL~CTRABNREDIRERRZ R AR E P R IREH.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised.




@ ADRZX%I

JMiZRTEZ / OUTLINE DIMENSION SHEET

NI/ INPUT 35 i/ OUTPUT
50 12
N LR
oer
I I
// O - z 11-M10x22.5
I 1B7 AN f
S = 271 I | S |
// T i T E RS R RS I A [
I T84 ¢ E= - ;
| e <K mall]| | .
c2 | H X : °
w1388 s i
52008 . s
o
C3F7 s
C567
8 \i%/ INPUT 3335 Hiism/OUTPUT
E
18 15
0c7 ;--
/ s 1410225
// G 7 I
© © o of = 16
// - CEEEERS A
o\ ¢ . ‘ 3
I 75 [E i
I o | | 8
I | | i |
=i | s
] e
1SO 9409 SHEF200x5 lcaz) 3
C567

@200 4-M12x28 @114.3 180 2135 316
ADR-200-L1

@215 4-M12x28 @38 85 @180 6 190 2135 316

@165  4-M10x25 @28 60 @130 6 142 1645 269.5
ADR-200-L2

@200  4-M12x28 @35 85 @1143 6 180 1895 294.5

* Cl~CTRRHIREDRIERE R RT, rIRIES P 2R EIREM.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised,




BYE215H8 / MODEL ILLUMINATE

____________________________

__________________________________

RN B,
! AF060/AF090
AF115/AF142/AF180/AF220

_____________________

BELE: BAZR(L1):3, 4,5, 7,810
Wk(L2): 15, 20, 25 30, 35, 40, 50,70, 80,100

% AEHI: AF090-10-S2 / MHMD-082G1U




&@ AFZR7

TENTEEEEFl / GEAR BOX PERFORMANCE INFORMATION

3 55
4 50 140 290 542 1,700
; 5 60 160 330 650 2,000
7 35 140 300 550 1,800
8 35 120 260 500 1,600
10 23 48 140 370 1,220
15 55 130 208 342 1,140
_ 20 50 140 290 542 1,700
BEHIIE o Nm 25 60 160 330 650 2,000
30 60 160 330 650 2,000
) 35 60 160 330 650 2,000
40 60 160 330 650 2,000
50 60 160 330 650 2,000
70 35 140 300 550 1,800
80 35 120 260 500 1,600
100 23 48 140 370 1,220
BAIH 5T . Nm 172 3~100 3fEEEA 5
e ESEN: rpm 1,2 3~100 5,000 4,000 4,000 3,000 2,000
B NN, rpm 1,2 3~100 10,000 8,000 8,000 6,000 4,000
R . 1 3~10 < < < < <
B S2 aremin 2 12~100 595 595 595 595 595
NI Nm/arcmin 1,2 3~100 7 14 25 50 225
BIFRESF, N 1,2 3~100 1,530 3250 6,700 9,400 50,000
YA, . N 1,2 3~100 630 1,300 3,000 4,000 35,000
BUFHHESIF, ,.° N 1,2 3~100 765 1625 3,350 4,700 25,000
EEE hr 1,2 3~100 20,000 %
1 3~10 >97%
HE N % 2 12~100 >94%
1 3~10 1.3 3.7 7.8 14.5 48
=B kg 2 12~100 1.9 4.1 9 17.5 60
(EFRIRE ‘C 1,2 3~100 -10°C~+90°C
biEh =] 1,2 3~100 ARG
g7 R==74 1,2 3~100 P65
2R 1,2 3~100 =S
16:2={& (n,=3000rpm) dB 1,2 3~100 <58 <60 <63 <65 <70
T R C o ARED AR AFITS A2 AR
R
3 0.16 0.61 3.25 9.21 69.61
4 0.14 0.48 2.74 7.54  54.37
5 0.13 0.47 2.71 7.42  53.27
1 7 0.13 0.45 2.62 714  50.97
8 0.13 0.44 2.58 7.07  50.84
10 0.13 0.44 2.57 7.03  50.56
15 0.03 0.13 0.47 2.71 23.29
20 0.03 0.13 0.47 2.71 23.29
FENRE J, kg + cm’ 25 0.03 0.13 0.47 271 23.29
30 0.03 0.13 0.47 2.71 23.29
35 0.03 0.13 0.47 2.71 23.29
2 40 0.03 0.13 0.47 2.71 23.29
50 0.03 0.13 0.44 257  22.51
70 0.03 0.13 0.44 257  22.51
80 0.03 0.13 0.44 257  22.51
100 0.03 0.13 0.44 257  22.51
1. AL ( =N,/ N,,) 2. JiEEE 100 rpm B, (EFITREEEOAE.

* BRI RERES 02—,




@ AFZR75

SMiZRTEZ / OUTLINE DIMENSION SHEET

EINIH/INPUT 9 HitHig/ OUTPUT
37 C8
28.5 6 60
3 2 i &
— A
2l e O
= SIS 5 s
5 gt A
15 \ Jf cé
15 -
7 C4
BN/ INPUT cs it /OUTPUT
37 C8
cr 285 6 60
o =) i !
F $3 22 !
g e 4 O
5| - gl B 4 — %— - gi 8
) 15 \ C6

1.5

 WHHAAHE/Output Diameter R$ el 2 C3 C4C5CECT C8 O
78 115

AF-060-L1 @70 4-M4x10,4-M5x12 @11,014 34 @50 5 65
@90 4-M5x12,4-M6x14 @19 44 ©70 5 80 88 125

AF-060-L2 @70 4-M4x10,4-M5x12 @11,014 34 @50 5 65 105 142
* CI~CTRABIMESIRERR Z R, oI RIBE P ERRIHEM,

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

M5x0.8P

Liiiin




&@ AFZR7

SMiZRTEZ / OUTLINE DIMENSION SHEET

HINim/ INPUT HHim/OUTPUT
C9
48 C8
c7 36.5 8I % % 90
428
O
19 ] 6
15
10 C10
C4
i/ INPUT co i HiR/OUTPUT
48 C8
36.5 8 5 § 90
5
428 —
I . S5
g = 10— 1 84
19 C6
1.5
10 C10

@90 4-M5x12, 4-M6x14 219 270 146
2100 4-Mbx14 216 4 @80 7 9 98 146 7
GL’T—]‘— AF-090-L1 2115 4-M8x20 219,822 50 @% 7 100 104 152 13
0 E M8x1.25P 2115 4-M8x25 219,022 60 @9 8 100 114 162 23
S 2145 4-M8x25 919022,024 60 @110 8 130 114 162 23
22206 a70  4-M4x10,4-M5x12 911,014 34 @950 5 65 1145 1625 55
AF-090-L2 290 4-M5x12, 4-M6x14 219 4 @70 5 80 1245 1725 165
Ly 2100 4-M6x14 216 385 @80 5 86 119 167 10

* CI~CTRAHIREDIAEERZ RS eI RIEE R E R e M.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.




@ AFZR75

SMiZRTEZ / OUTLINE DIMENSION SHEET

g Adm/INPUT i Him/ OUTPUT
c9
65 c8
c7 ©
51 10 s 115

S
[$,]
5

50

~|

2114.5
O

@110n7
|
|
T
|
%
3F
Cher

O
& ‘ 28 |2 c6
12 I
1C10]
c4
i N\irm/ INPUT c9 i /OUTPUT
65 cs
51 10 § 115
|— Il
540
T <9
S s r Q‘—m 5
5 g frH I HE A
C6
28 |2 I
- 10
2l c4

Ly D18 MBS 919,022,024 645 @110 11 130 136 201 195

10h9 @200  4-M12x30 @35 815 01143 6 180 153 218 375
— M12x1.75P 290 4-M5x12, 4MBx14 019 4 @70 7 90 1495 2145 8
3| 4 100 4-MBx14 016 4 @80 7 90 1495 2145 7
AF-115-L2 115 4-M8x25 219022 50 @95 7 100 1555 2205 13

o115 4-M8x25 219922 60 @95 8 100 1655 2305 23

o145 4-M8x25 019,022024 60 110 8 130 1655 2305 23

L ECE

* C1~-CTRABINESIANERIRC RS, A iRIEE P ERPIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.




&@ AFZR7

SMiZRTEZ / OUTLINE DIMENSION SHEET

NG/ INPUT #)itits/OUTPUT

c9
97 C8
79 12

(@]
~
2142
@150

=

[6)
@
| @&
o
|
95

074

1

:
Cher

1
2130n7
T
H
=

' c2 _A15l c10
c4

i N/ INPUT iHiR/OUTPUT
co
o7 c8
79 2. o 8
‘é Q
H 5 65
5 R = N L T
i]
% | 3 Co
[
15 €10
c4

AF-142-L1 3145 4-M8x25 222,824 725 2110 150 1545 251.5 19.5
12ho 2200 4-M12x30 235 82 ©1143 8 180 164 261 29
N M16x2P AF-142-02 2145 4-M8x25 219,022,024 645 @110 11 130 189 286 195
el 2200 4-M12x30 235 815 01143 6 180 206 303 375
T * C1~CTRASINEDIRIERRZ R, AIRIE S P 2R BIRE M.
240h6 * C1~CT7are motor(metric standard) specific dimensions, which could be customised.
A=




@ AFZR75

SMiZRTEZ / OUTLINE DIMENSION SHEET

C9

HNig/ INPUT 138 c8 HHiH/OUTPUT

2225.5

105 20 220

2218

950

5
!

2180n7
1
il
T T W w
C3F7,
G567

L

NI/ INPUT - = - HtHi%/OUTPUT

2255

105 20 220

O
~
2218

o [
- O
~ § D E —
5 ,
& o] 3 | C6 5
3 a 0 \
c2 130 c10

C4

2200  4-M12x30 235042 116 1143 200 227 195
a%)ﬁ’« AF-220-L1 @215 4-M12x30 042 109 ©180 8 200 220 358 125
M20x2.5P 2235  4-M12x30 242055 119 200 10 220 230 368 225
O 2200 4-M12x30 235 8 o143 7 180 264 402 75
I ooty P20 w20 042 116 1143 7 180 295 433 40
. @215 4-M12x30 042 90 o180 8 200 269 407 14
0235 4-M12x30 042 120 ©200 10 220 209 437 44

B * MADIKERIRZ R T FIREE BRI,

* The inout motor specific dimensions could be customised.




BUE215H8 / MODEL ILLUMINATE

____________________________

| EAE :AE070/AE090 o
; AE120/AE155 ]

AE205/AE235
SR BR(L1):3, 4.5, 7,810

WEk(L2): 15, 20, 25 30, 35, 40, 50, 70, 80,100

1%EFEHI AE090-10-S2/ MHMD-082G1U

Oixas .




® AEZ7

EEEESEE /GEAR BOX PERFORMANCE INFORMATION

3 1,140
4 50 140 290 542 1,050 1,700
’ 5 60 160 330 650 1,200 2,000
7 35 140 300 550 1,100 1,800
8 35 120 260 500 1,000 1,600
10 23 48 140 370 520 1,220
15 55 130 208 342 588 1,140
. 20 50 140 290 542 1,050 1,700
AR o Nm 25 60 160 330 650 1,200 2,000
30 60 160 330 650 1,200 2,000
% 35 60 160 330 650 1,200 2,000
40 60 160 330 650 1,200 2,000
50 60 160 330 650 1,200 2,000
70 35 140 300 550 1,100 1,800
80 35 120 260 500 1,000 1,600
100 23 48 140 370 520 1,220
BRI, Nm 1,2 3~100 3{ERERIH M
BEMANEEN rpm 1,2 3~100 5,000 4,000 4,000 3,000 3,000 2,000
AN, rpm 1,2 3~100 10,000 8,000 8,000 6,000 6,000 4,000
Abpdy B = < < < < < <
HIES2 arcmin ; 1g~180 sg sg sg sg sg sg
REERItE Nm/arcmin 1,2 3~100 7 14 25 50 145 225
BFRANF, N 1,2 3~100 1,530 3,250 6,700 9,400 14,500 50,000
BUFHEIF 0067 N 1,2 3~100 630 1,300 3,000 4,000 6,200 35,000
YRS .00 N 1,2 3~100 765 1,625 3,350 4,700 7,250 25,000
=% hr 1,2 3~100 20,000 *
. 1 3~10 >97%
N % 2 12~100 94%
1 3~10 1.3 3.7 7.8 14.5 29 48
L kg 2 12~100 1.9 4.1 9 17.5 33 60
FRRE LC 1,2 3~100 -10°C~+90°C
i 1,2 3~100 ERkIEEIHAE
PR 1,2 3~100 1P65
LETIA 1,2 3~100 (E5=val
IEE{E(n,=3000rpm) dB 1,2 3~100 <58 <60 <63 <65 <67 <70
RERENRE
-—-——-—-
3 0.03 3.25 28.98  69.61
4 0.03 0.14 0.48 2.74 7.54 23.67 54.37
’ 5 0.03 0.13 0.47 2.71 7.42 23.29  53.27
7 0.03 0.13 0.45 2.62 7.14 22.48  50.97
8 0.03 0.13 0.44 2.58 7.07 2259 50.84
10 0.03 0.13 0.44 2.57 7.03 2251  50.56
15 0.03 0.03 0.13 0.47 2.71 7.42 23.29
_ s 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
FerpiRE kg - cm 25 0.03 0.03 013 047 271 7.42  23.29
30 0.03 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
2 40 0.03 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51
70 0.03 0.03 0.13 0.44 2.57 7.03 22.51
80 0.03 0.03 0.13 0.44 2.57 7.03 22.51
100 0.03 0.03 0.13 0.44 2.57 7.03 22.51
1 RIEEL (=N, / Nou) 2. fHdsEs 100 rpm B, (EFBFHHMPOAIE,

* ERIERIRERES D Z—.




&@ AEx7

SMiZRTEZ / OUTLINE DIMENSION SHEET

BN/ INPUT 9 igtHiR/OUTPUT
35 c8
5
285
it i N
pu— l
3 2 N )
el — o 7
= - I I =5
88 |+ {188
Lis _L|1s c6 \
— 262
¢ 4-M5x10
C9 aute
Nim/ INPUT o o8 HtHiR/OUTPUT
—’5-—-
285
=3 T
) ] f
T o
S e AR R A e et R T
s Lpes e
—3 I ] »
ca 4-M5x10
AE070.L1 @70  4-M4x10,4-M5x12 211,014 @50 5 80 115
290 4-M5x12,4-M6x14 @19 44 @70 5 80 90 125
Srg AE-070-L2 @70 4-M4x10,4-M5x12 @11,014 34 @50 5 65 107 142
- V5x0.8P * CI~CTRAMIREDAERIR S R Y TREEP R,
~ |7 * C1~C7are motor(metric standard) specific dimensions, which could be customised.
@16h6
L




&@ AEx7

SMiZRTEZ / OUTLINE DIMENSION SHEET

i/ INPUT E)tHik/OUTPUT
c9
44 C8
c7 365
-
8
O
g8 H= 11— — — |88
19 g 15 c6
|
___QL c10
c4
BN/ INPUT s /OUTPUT
co
44 C8
365
]
28 A
i
S Tl B
qg = | — — — — &3
| 19 15 i C6
5 c10
4-M6x12
00 4-M5x12,4M6x14 @19 o970 102
2100 4-Mex14 016 4 @8 7 90 102 146 7
Bo AE-090-L1 @115 4-MBx20 019022 50 @95 7 100 108 152 13
“ W8x1.25P o115 4M8X25 919022 60 295 8 100 118 162 23
| —
R o145 4MBx25 019022024 60 @110 8 130 118 162 23
02216 970 4M4x10,4M5x12  @11@14 34 @50 5 65 1185 1625 55
AE-090-2 90 4M5x12, 4-Méx14 @19 4 @70 5 80 1285 1725 165
R 100 4-MBx14 @16 385 ©80 5 8 123 167 10

* CI~CTEABIRED X ERRZ R SIiRER P E R BIREMY.

* C1~CT7are motor(metric standard) specific dimensions, which could be customised.




&@ AEx7

SMiZRTEZ / OUTLINE DIMENSION SHEET

HIAIg/ INPUT

BN/ INPUT

c7

M12x1.76P

2326

L ECE

oY

2120

ki i HiR/OUTPUT
62 C8
©
5 T s
.3_ B —
540
O
ol = — H ! i
g8 - H——1HHE T 8 s
’ 28 12 Cé
_5_3_ I — !
C10]
C4
Cg -, Ay
62 8 HitHi%/OUTPUT
9 *
51 s
===
540
- Ol
g =TS 8
C6
28 |2
N C10
c4

AE-120-L1 145 4-M8x25 219,022,024 645 @110 130 139 201 195
@200 4-M12x30 235 815 1143 6 180 156 218 375
290 4-M5x12, 4-M6x14 219 4 @70 7 90 1525 2145 8
2100 4-M6x14 216 4 @80 7 90 1525 2145 7
AE-120-L2 @115 4-M8x25 219022 50 @95 7 100 1585 2205 13
2115 4-M8x25 219022 60 @95 8 100 1685 2305 23
2145 4-M8x25 219,022,024 60 @110 8 130 1685 2305 23
* C1~CTRAFINEDIAEERZ R, AIRIEE P E K RIRE.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.




&@ AEx7

SMiZRTEZ / OUTLINE DIMENSION SHEET

Bt is/OUTPUT

i/ INPUT
C9
9% cs
79 12 28
Q
= |
5 65
-=|— O
w0 r }-_—:x:,n t ~
g g S [ N R R
c6
L
= |
C10 4-M10x20
c4
BN/ INPUT i /OUTPUT
C9
94 C8
79 A 3
cr _ s
B 3
5 65
o | i
g O
5 8 § Fe—H— -t —1 § &
0
36 3 cé
|
En
c10
c4 4M10x20

- HHHHE/Output Diameter --_--------
150 157.5 251.5 19.5

3145 4-M8x25 222,824 725 @110
L AR o0 4nnzxao @35 82 o143 8 180 167 261 29
e M16x2P :
2145 4-M8x25 219022,024 645 @110 11 130 192 286 195
2 AE-155-L2
2200 4-M12x30 235 815 01143 6 180 209 303 375
i * C1~CTRAKIRESIAERIR Z R, AIHRIBE P EKEIRE Y,
240h6 * C1~CT7are motor(metric standard) specific dimensions, which could be customised.
BT




&@ AEx7

SMiZRTEZ / OUTLINE DIMENSION SHEET

co
s 100 8 N
BN/ INPUT 15 iiHiER/OUTPUT
c7 82 %
=
o © 0 g\
2. A2 \= B0
v o
o ﬁm o \ . N
© c,\ jg o| . 0 |3 c6
\\_ R
8 o0 | o ° -
c10
4M12x22
c4
c9
A%/ INPUT 100 c8 i OUTPUT
15
82 3
c7 1S
= E
/><° 610 é |
o) N 5
S T B S T Tl B
° SE P 3l 8
c6
\)(e 42 |3 f
c |
= . c1o
ct 4-M12x22

6no 2200 4-M12x30 235 85 ©114.3 180
I 2200 4-M12x30 042 116 ©1143 7 180 215 315 40
M20x2.5P AE-205-L1
> 2215 4-M12x30 42 9 2180 8 200 189 289 14
© 2235 4-M12x30 42 120 @200 10 220 219 319 44
I 2145 4-M8x25 @22024 725 o110 11 150 2295 3305 195
0556 AE-205-L2
2200 4-M12x30 235 82 01143 8 180 239 340 29
*ADAEERIRZR T, JHRIES P EREIREM.
LS * The inout motor specific dimensions could be customised.




&@ AEx7

SMiZRTEZ / OUTLINE DIMENSION SHEET

HINim/ INPUT

N/ INPUT

(074

795

20ng
M20x2.5P

@75h6

L iCE

co
126 c8
18 o
105 g
Q]
) E
T “/O
88 = e
42 3 "\ Cc6
= Erd
c10
c4
c9
126 c8
18 0
105 8
Q|
=g
[
7|_ 90 .
N O
w0 < t ~
88 1= 188
2| 3 Cé
i
=B
ci0
c4

Hitis/OUTPUT

Him /OUTPUT

4-M16x28

2200 4-M12x30 235242 116 91143 15 200 239 365 195
AE-235-L1 @215 4-M12x30 42 109 @180 8 200 232 358 125
2235 4-M12x30 242,855 119 @200 10 220 242 368 225
2200 4-M12x30 @35 85 01143 7 180 276 402 75
AE-23512 2200 4-M12x30 42 16 ©1143 7 180 307 433 40
@215 4-M12x30 42 90 2180 200 281 407 14
2235 4-M12x30 242 120 2200 10 220 311 437 44

* BADREERZ R FIREE 2R SIREM.

* The inout motor specific dimensions could be customised.




i % A A R R AL

www.szxlyjd.com



T B1F Hm

EHRENABRAZELVHNE

Professional Supplier For Transmision Equipments And Solution

+ FINTHAILBINBRFRALF
XLY Shenzhen Xinliying Jidian Co.,Ltd.

®
_ﬁ Tel: 0755-23721539 29636353 29634691
REDUCER Fax: 0755-29634692
Http://www.szxlyjd.com
E-mail:szxly8899@126.com

Add: RINTTE LR XK EET KA K IFHEE2 S Tl = X 1 #5614






